

(1)

$$p(V-b) \exp\left(\frac{a}{rTV}\right) = rT \quad \text{①} \quad \text{المركبة 10}$$

$$\alpha = \frac{1}{V} \left(\frac{\partial V}{\partial T} \right)_p \quad \text{: } \alpha \text{ plus}$$

$$\ln p + \ln(V-b) + \frac{a}{rTV} = \ln r + \ln T \quad \text{②} \quad (*)$$

: p ثابت (*) $\ln$ طرفي

$$\frac{dp}{p} + \frac{dV}{V-b} - \frac{a dV}{rTV^2} - \frac{a dT}{rT^2V} = \frac{dT}{T}$$

$$\left(\frac{1}{V-b} - \frac{a}{rTV^2} \right) dV = dT \left(\frac{1}{T} + \frac{a}{rT^2V} \right)$$

$$\frac{dV}{dT} = \frac{\frac{1}{T} \left(1 + \frac{a}{rTV} \right)}{\frac{1}{V-b} - \frac{a}{rTV^2}}$$

$$\alpha = \frac{1}{V} \left[\frac{1}{T} \left(\frac{1 + \frac{a}{rTV}}{\frac{1}{V-b} - \frac{a}{rTV^2}} \right) \right] \quad \text{إلى هنا}$$

$$\alpha = \frac{1}{T} \times \frac{1}{V} \left[\frac{\left(1 + \frac{a}{rTV} \right)}{\frac{1}{V \left(1 - \frac{b}{V} \right)} - \frac{a}{rTV}} \right] \quad \text{إلى هنا}$$

$$\alpha = \frac{1}{T} \times \left[\frac{1 + \frac{a}{rTV}}{\left(1 - \frac{b}{V} \right)^{-1} - \frac{a}{rTV}} \right]$$